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=& REM -3

BB K 5L : FWL 30.2|(m)

HlS EL 15.0{(m)

=8 IKi%E : H=FWL-EL 15.2|(m)

WETKE:V 55,000{(m3)

KTt = (Costa): Qp 301.45|(m3/s)  |Qp=325(H-V)°*

JRigmiE:A 0.4560|km?2

/K ETE: A2 0.0060|km2

r=a/(t"+b)

1 F R = £181Fr BE

ErRsEE KN 0.687

ErREE R 2541.05

ErsEERX b 9.34
F-2Tri-r2hoh &

W H R E EERFR:t 51|14 Iz L5#YIR
LAA
F-2Mr1-r2M{EH0

REFHERR tc 51|19 L1 AR EREEE
HUVIET

B ZERBRNOBREE: v 104.8|{(mm/h)

HKFEE—Y:Q 10.6[(m3/s) |1/36-f-r-A

REHEKGREN.2Q 12.72|(m3/s)

#1A=0. 006km2 /

FigiA=0. 456km2

LLi#sA=0. 450km2

0 50

F-1 RHEGRBIERE RS ERC

TR HE C | EfE(km2) s &
pat:o¥iich 70 0.0060 A EHEE 7o 60 M i ) P33
(Lot 290 | 0.4500
7KH 100
M 200
E 70
‘it 0.4560

Taf I 287

IR RE f i i &
Pat;akiii! 1.00 | 0.0060 A FHEEH 720 M | P33
(L 0.80 | 0.4500
KH 0.75 | 0.0000
Bk 0.53 | 0.0000
£ 0.85 | 0.0000
‘it 0.4560

Taf I 0.80

&2 HOKEERR]

BFfE | REBEREZ[BKRE|CEXNRTRE
(min)  [Q1(m3/s)] Q2(m3/s)[{Q1+Q2(m3/s)
o| 30145 106 312.1
1 216.97 10.5 2275
2| 156.16 10.4 1665
3 112.40 10.3 122.7
4 80.90 10.1 91.0
5 58.23 10.0 68.3
6 41.91 9.9 51.8
7 30.16 9.8 40.0
8 2171 9.7 314
9 15.63 9.6 25.2
10 11.25 9.5 20.7
11 8.09 9.3 17.4
12 5.83 9.2 15.1
13 419 9.1 13.3
14 3.02 9.0 12.0
15 217 8.9 11.1
16 1.56 8.8 10.3
17 1.13 8.7 9.8
18 0.81 8.6 94
19 0.58 84 9.0
20 0.42 8.3 8.7
21 0.30 8.2 85
22 0.22 8.1 8.3
23 0.16 8.0 8.1
24 0.11 79 8.0
25 0.08 7.8 7.8
26 0.06 7.6 1.7
27 0.04 7.5 7.6
28 0.03 74 14
29 0.02 7.3 7.3
30 0.02 7.2 7.2
31 0.01 7.1 71
32 0.01 7.0 7.0
33 0.01 6.8 6.9
34 0.00 6.7 6.7

100 150m

mronEnn] AWAE |ARRmEE| | |JOKEEEE _
t(4) r{(mm/h) re=f=r;(mm/h) re tc(min) 2 n
1 51.0 104.8 83.84 0.212 51.19 104.7 0.1
2 51.1 104.8 83.84 0.212 51.19 104.7 0.1
3 51.2 104.7 83.76 0.212 51.19 104.7 0.0
4 51.3 104.6 83.68 0.212 51.19 104.7 -0.1
5 51.4 104.5 83.60 0.212 51.19 104.7 -0.2
6 515 104.4 83.52 0.213 51.43 104.5 -0.1
7 51.6 104.3 83.44 0.213 51.43 104.5 -0.2
8 51.7 104.2 83.36 0.213 51.43 104.5 -0.3
9 51.8 104.2 83.36 0.213 51.43 104.5 -0.3
10 51.9 104.1 83.28 0.213 51.43 104.5 -04
11 52.0 104.0 83.20 0.213 51.43 104.5 -0.5
#-3 HKRE AIAEFE
t r In Q
" (min) (mm/h) nr (mm/h) | (m3/s)

1 51.0 104.8 104.8 104.8 10.6

2 102.0 76.3 152.6 478 48

3 153.0 61.9 185.7 33.1 3.4

4 204.0 53 212.0 26.3 2.7

5 255.0 46.8 234.0 22.0 2.2

6 306.0 421 252.6 18.6 1.9

7 357.0 38.5 269.5 16.9 1.7
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B | RERE[AKRE|LENZHKE x-1 REREfETEEEELRC
=B HH &% (min) | Q1(m3/s)| Q2(m3/s)[Q1+Q2(m3/s) tHoRE | ¢ |@ERGm) W %
B S K AL FWL 67.4((m) o 177.47 6.6 184.1 728 70 | 0.0049 R FHEEE T2 M 1 P33
HlS EL 60.0{(m) 1 127.24 6.5 133.8 LI 290 | 0.2631
t=8ith /K% - H=FWL-EL 7.4|(m) 2 91.22 6.4 97.7 K H 100
HRETKE:V 32,000{(m3) 3 65.40 6.4 71.8 B 200
EAFHE(Costa):Qp| 177.47|(m3/s)  |Qp=325(H-V)**? 4 46.89 6.3 53.2 EHl 70
TISEHE:A 0.2680|km2 5 33.62 6.2 39.8 A 0.2680
KRR : A2 0.0049|km2 6 2410 6.1 30.2 Ty 286
r=a/(t"+b) 7 17.28 6.0 233
HAREEAR BE 8 12.39 6.0 18.4 tHodke |t Hif i %
ERRER N 0.687 9 8.88 5.9 14.8 7 1.00 | 0.0049 RREHESHT72 ) M i P33
ErREE R 2541.05 10 6.37 5.8 12.2 it 0.80 | 0.2631
ErsEERX b 9.34 11 457 5.7 10.3 KH 0.75 | 0.0000
MR B 44| 5> A 12| 921 9% 89 e | 059 | 00000
LA 13 2.35 5.6 7.9 Bt 0.85 | 0.0000
REEIERRD  to 44|53 S AEI ARt 4 198 9% /2 o 02050
HEVEET 15 1.21 5.4 6.6 B 0.80
B ER R R DR FRIRE ¢ 111.4|{(mm/h) 16 0.86 5.3 6.2
BKREE—Y:Q 6.6{(m3/s) [1/3.6f-r-A 17 0.62 5.2 5.9 R-2 HKEERR
BREHHOKIREN.2Q 7.92((m3/s) 18 0.44 5.2 5.6 REOTEREl EWEE |AURRME oz |BUKEIERSRS
19 0.32 5.1 5.4 1(%3) rmm/h) |re=fermm/m)| " to(min) k Rk
20 0.23 50 5.2 1 440 1114 89.12 0.208 4453 110.9 0.5
21 0.16 4.9 5.1 2| 441 1113 89.04 0.208 4453 110.9 0.4
22 0.12 4.9 50 3| 442 1112 88.96 0.208 4453 110.9 0.3
23 0.08 48 4.9 4| 443 111 88.88 0.208 4453 110.9 0.2
24 0.06 4.7 48 5| 444 1110 88.80 0.208 4453 110.9 0.1
25 0.04 46 4.7 6| 445 110.9 88.72 0.208 4453 110.9 0.0
26 0.03 45 4.6 7| 446 110.8 88.64 0.208 4453 110.9 -0.1
27 0.02 45 45 8| 447 110.7 88.56 0.208 4453 110.9 -0.2
28 0.02 44 44 9| 448 110.6 88.48 0.208 4453 110.9 -0.3
29 0.01 43 43 10| 449 1105 88.40 0.208 4453 110.9 -0.4
30 0.01 4.2 42 11 450 1104 88.32 0.208 4453 110.9 -05
31 0.01 4.1 4.1
32 0.00 4.1 41 x-3 HKRE-AIAEHRE
t r In Q
i (min) (mm/h) nr (mm/h) (m3/s)
1 440 1114 1114 1114 6.6
2 88.0 81.9 163.8 52.4 3.1
3| 1320 66.9 200.7 36.9 2.2
4| 1760 57.5 230.0 293 1.7
5/ 2200 50.8 254.0 240 14
/ NN 6| 2640 458 274.8 208 12
ORP. (C) = B4R 7| 3080 419 293.3 18.5 1.1

FAEiEAKTH-3
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F-1 RHEGRBIERE RS ERC

=& FE/ fith -3

BB K 5L : FWL 11.8|(m)

HlS EL 10.0{(m)

=8 IKi%E : H=FWL-EL 1.8](m)

#Erk=:Vv 13,000((m3)

= RFHE=(Costa): Qp 67.14|(m3/s)  |Qp=325(H-V)**

JRigmiE:A 0.0370|km?2

/K ETE: A2 0.0040|km2

r=a/(t"+b)

1 F R = £181Fr BE

ErRsEE KN 0.687

ErREE R 2541.05

ErsEERX b 9.34
F-2Tri-r2hoh &

AR E B BF et 24| %> Iz L5#YIR
LAA
F-2Mr1-r2M{EH0

REFHERR tc 244> L1 AR EREEE
HUVIET

B ZERBRNOBREE: v 139.5((mm/h)

HKFEE—Y:Q 1.2|(m3/s) |1/3.6-f-r-A

REHEKGREN.2Q 1.44|(m3/s)

F&-2 HOKEERR]

TR HE C | EfE(km2) s &
pat:o¥iich 70 0.0040 A EHEE 7o 60 M i ) P33
(Lot 290 | 0.0330
7KH 100
M 200
E 70
‘it 0.0370

faf ES-25) 266

IR RE f i i &
Pat;akiii! 1.00 | 0.0040 A FHEEH 720 M | P33
(L 0.80 | 0.0330
KH 0.75 | 0.0000
Bk 0.53 | 0.0000
£ 0.85 | 0.0000
‘it 0.0370

faf ESF-25) 0.82

Pl 2 S T

:_-_._;: c

50 1(|)0
|

i [REBRE|HKRE|DEMRRE
(min)  [Q1(m3/s)] Q2(m3/s)[{Q1+Q2(m3/s)
ol 6714 12 68.3
1 49.25 1.2 50.4
2 36.13 1.2 373
3 26.50 1.1 276
4 19.44 11 20.5
5 14.26 1.1 15.3
6 10.46 1.1 115
7 7.67 1.0 8.7
8 5.63 1.0 6.6
9 413 1.0 5.1
0 3.03 1.0 40
222 0.9 3.1

1.63 0.9 25

1.20 0.9 2.1

0.88 0.9 1.7

0.64 0.8 1.5

0.47 0.8 1.3

0.35 0.8 1.1

0.25 0.8 1.0

0.19 0.7 0.9

20 0.14 0.7 0.8
21 0.10 0.7 0.8
22 0.07 0.7 0.7
23 0.05 0.6 0.7
24 0.04 0.6 0.6
25 0.03 0.6 0.6
26 0.02 0.6 0.6
27 0.02 0.6 0.6
28 0.01 0.6 0.6
29 0.01 0.6 0.6
30 0.01 0.6 0.6
31 0.00 0.6 0.6

150m

G AKT-T7

mronEnn] AWAE |ARRmEE| | |JOKEEEE _
t(4) r{(mm/h) re=f=r;(mm/h) re tc(min) 2 n
1 24.0 139.5 114.39 0.19 24.47 138.6 09
2 241 139.3 114.23 0.19 24.47 138.6 0.7
3 24.2 139.1 114.06 0.191 24.6 138.3 0.8
4 243 138.9 113.90 0.191 24.6 138.3 0.6
5 244 138.7 113.73 0.191 24.6 138.3 04
6 245 138.5 113.57 0.191 24.6 138.3 0.2
7 24.6 138.3 113.41 0.191 24.6 138.3 0.0
8 247 138.2 113.32 0.191 24.6 138.3 -0.1
9 248 138.0 113.16 0.191 24.6 138.3 -0.3
0 24.9 137.8 113.00 0.191 24.6 138.3 -0.5
25.0 137.6 112.83 0.191 24.6 138.3 -0.7
HOKRE AIASEHR
t r In Q
(min) (mm/h) nr (mm/h) | (m3/s)
240 139.5 139.5 139.5 1.2
2 48.0 107.5 215.0 75.5 0.6
3 72.0 90 270.0 55.0 0.5
4 96.0 78.6 314.4 44 4 0.4
5 120.0 70.3 351.5 37.1 0.3
6 144.0 64 384.0 32.5 0.3
7 168.0 58.9 412.3 28.3 0.2
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B [RERE|HEKRE|LEMNRRE x-1 REREfETEEEELRC
=B Eraith B=E (min) | Q1(m3/s)| Q2(m3/s)[Q1+Q2(m3/s) tHoRE | ¢ |@ERGm) W %
B S K AL FWL 24.7|(m) 0 73.68 2.1 75.8 728 70 | 0.0004 R FHEEE T2 M 1 P33
LS EL 17.4|(m) 1 24.40 2.1 26.5 Tif:i 290 | 0.0746
1= Ki%E : H=FWL-EL 7.3[{(m) 2 8.08 2.0 10.1 7k H 100
RETKE:V 4,000((m3) 3 2.68 2.0 47 Bl 200
At 2(Costa): Qp 73.68|(m3/s)  |Qp=325(H-V)** 4 0.89 20 2.9 EHl 70
TISEHE:A 0.0750|km2 5 0.29 1.9 2.2 A 0.0750
WKEE: A2 0.0004|km2 6 0.10 1.9 2.0 T 289
r=a/(t"+b) 7 0.03 19 19
HAREEAR BE 8 0.01 1.9 1.9 tHodke |t Hif i %
ErRsEE KN 0.687 9 0.00 1.8 18 pietatiil 1.00 | 0.0004 BFHEEH 7eb R P33
EREERa 2541.05 10 0.00 1.8 18 (L1 0.80 | 0.0746
ErsEERX b 9.34 11 0.00 1.8 18 KH 0.75 | 0.0000
MR B 32|43 A 2| 0% U 17 e | 059 | 00000
LA 13 0.00 1.7 1.7 Bt 0.85 | 0.0000
REEIERRD  to 32|43 S AEI ARt 4 0% W 17 o 000
YT 15 0.00 1.6 1.6 e a) 0.80
B ER R R DR FRIRE ¢ 126.1|(mm/h) 16 0.00 16 16
BKREE—Y:Q 2.1|(m3/s)  [1/3.6+f-r-A 17 0.00 16 1.6 R-2 HKEERR
BREHHOKIREN.2Q 2.52|(m3/s) 18 0.00 15 15 REOTEREl EWEE |AURRME oz |BUKEIERSRS ]
19 0.00 15 15 1(%3) rmm/h) |re=fermm/m)| " to(min) k Rk
20 0.00 15 15 1 320 126.1 100.88 0.199 3253 125.3 0.8
2 32.1 1259 100.72 0.199 3253 125.3 0.6
/ 3 322 1258 100.64 0.199 3253 125.3 0.5
4 323 1256 100.48 0.199 3253 125.3 0.3
5 32.4 1255 100.40 0.199 3253 125.3 0.2
6 325 1254 100.32 0.199 3253 125.3 0.1
7 326 1252 100.16 0.199 3253 125.3 -0.1
8 327 125.1 100.08 0.199 3253 125.3 -0.2
9 3238 1249 99.92 0.2 32.69 1251 -0.2
10 329 124.8 99.84 0.2 32.69 1251 -0.3
11 33.0 1246 99.68 0.2 32.69 1251 -0.5
x-3 HKRE-AIAEPE
t r In Q
i (min) (mm/h) nr (mm/h) (m3/s)
1 320 126.1 126.1 126.1 2.1
2 64.0 95 190.0 63.9 1.1
3 96.0 78.6 235.8 458 0.8
4| 1280 68 272.0 36.2 0.6
5/ 160.0 60.5 3025 305 05
6| 1920 54.8 328.8 26.3 0.4
7| 2240 50.3 352.1 233 0.4

AEEAKT-9
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F-1 RHEGRBIERE RS ERC

o RHE C | EfE(km2) s &
Pat;akiii! 70 0.0017 R FHE R 7200 B G P33
(Lot 290 | 0.0583
7KH 100
M 200
E 70
‘it 0.0600
Taf I 284
IR RE f i i &
Pat;akiii! 1.00 | 0.0017 A FHEEH 720 M | P33
(L 0.80 | 0.0583
KH 0.75 | 0.0000
Bk 0.53 | 0.0000
£ 0.85 | 0.0000
‘it 0.0600
Taf I 0.81

=& Akt -3

BB K 5L : FWL 29.0|{(m)

LS EL 20.0{(m)

=8 IKi%E : H=FWL-EL 9.0({(m)

WETKE:V 5,000{(m3)

= RFHE=(Costa): Qp 88.36|(m3/s)  |Qp=325(H-V)**

JRigmiE:A 0.0600|km?2

/K ETE: A2 0.0017|km2

r=a/(t"+b)

1 F R = £181Fr BE

ErRsEE KN 0.687

ErREE R 2541.05

ErsEERX b 9.34
F-2Tri-r2hoh &

AR E B BF et 30| % Iz L5#YIR
LAA
F-2Mr1-r2M{EH0

REFHERR tc 30(% L1 AR EREEE
HUVIET

B ZERBRNOBREE: v 129.1{(mm/h)

HKFEE—Y:Q 1.7|(m3/s)  |1/3.6-f-r-A

RETKIREN.2Q 2.04|(m3/s)

o
wR 5,000

i

by

CHE T 038R S1P4 (GXCORE\CORR, (C)

F&-2 HOKEERR]

Bl [REBRE|HRKRE|LEXRTRE
(min) | Q1(m3/s)| Q2(m3/s)|Q1+Q2(m3/s)
0 88.36 1.7 90.1
1 30.60 1.7 323
2 10.60 1.6 12.2
3 3.67 1.6 5.3
4 1.27 1.6 29
5 0.44 1.6 20
6 0.15 1.5 1.7
7 0.05 1.5 1.6
8 0.02 1.5 1.5
9 0.01 1.5 1.5
10 0.00 1.4 1.4
1 0.00 1.4 1.4
12 0.00 1.4 1.4
13 0.00 1.4 1.4
14 0.00 1.3 1.3
15 0.00 1.3 1.3
16 0.00 1.3 1.3
17 0.00 1.2 1.2
18 0.00 1.2 1.2
19 0.00 1.2 1.2
20 0.00 1.2 1.2

AVAST=

RS

o
&
Qo

+

REOTEREl EWEE |AURRME gy | PUKENEESR _
(5 r{(mm/h) re=f=r;(mm/h) re tc(min) 2 n
1 30.0 1291 104.57 0.196 29.98 1291 0.0
2 301 128.9 104.41 0.197 30.13 128.9 0.0
3 30.2 128.8 104.33 0.197 30.13 128.9 -0.1
4 30.3 128.6 104.17 0.197 30.13 128.9 -0.3
5 304 128.5 104.09 0.197 30.13 128.9 -04
6 30.5 128.3 103.92 0.197 30.13 128.9 -0.6
7 30.6 128.2 103.84 0.197 30.13 128.9 -0.7
8 30.7 128.0 103.68 0.197 30.13 128.9 -0.9
9 30.8 127.9 103.60 0.197 30.13 128.9 -1.0
10 30.9 127.7 103.44 0.197 30.13 128.9 -1.2
11 31.0 127.6 103.36 0.197 30.13 128.9 -1.3
®-3 HKRE-AIAEHE
t r In Q
" (min) (mm/h) nr (mm/h) (m3/s)
1 30.0 1291 1291 1291 1.7
2 60.0 97.7 195.4 66.3 0.9
3 90.0 81.1 2433 479 0.6
4 120.0 70.3 281.2 379 0.5
5 150.0 62.6 313.0 318 04
6 180.0 56.8 340.8 278 04
7 2100 521 364.7 239 0.3

s K11




==




=& MAth -3

W B R KL FWL 15.3[(m)

HlS EL 12.0{(m)

=8 IKi%E : H=FWL-EL 3.3|(m)

WETKE:V 4,000{(m3)

= RFHE=(Costa): Qp 52.79|(m3/s)  |Qp=325(H-V)**

JRigmiE:A 0.0180|km?2

/K ETE: A2 0.0010|km2

r=a/(t"+b)

1 F R = £181Fr BE

ErRsEE KN 0.687

ErREE R 2541.05

ErsEERX b 9.34
F-2Tri-r2hoh &

PIHAR FE & ] 21|53 FIZIRND & 5RYIE
LAA
F-2Mr1-r2M{EH0

REFHERR tc 21|59 L1 AR EREEE
HUVIET

B ZERBRNOBREE: v 145.7|(mm/h)

HKFEE—Y:Q 0.6|/(m3/s) [1/36+fr-A

REHEKGREN.2Q 0.72|(m3/s)

/ N
1]

B |[RER=ZE|EKRE[LENRR=
(min) | Q1(m3/s)| Q2(m3/s)|Q1+Q2(m3/s)
0 52.79 0.6 534
1 23.91 0.6 245
2 10.83 0.6 114
3 4.91 0.6 55
4 2.22 0.5 2.8
5 1.01 0.5 1.5
6 0.46 0.5 1.0
7 0.21 0.5 0.7
8 0.09 0.5 0.6
9 0.04 0.5 0.5
10 0.02 0.5 0.5
1 0.01 04 0.5
12 0.00 04 0.4
13 0.00 04 0.4
14 0.00 04 0.4
15 0.00 04 0.4
16 0.00 04 0.4
17 0.00 04 0.4
18 0.00 0.3 0.3
19 0.00 0.3 0.3
20 0.00 0.3 0.3
< i
e
-
]
T
Lo
I o
+ 5 Bk M
i 12| 9. 018k
; :é% 5/ 1,000
OE HiE SIP RE ©) =

F-1 RHEGRBIERE RS ERC

F&-2 HOKEERR]

TR HE C | EfE(km2) s &
pat:o¥iich 70 0.0010 A EHEE 7o 60 M i ) P33
(Lot 290 | 0.0170
7KH 100
M 200
E 70
‘it 0.0180
Taf I 278
IR RE f i i &
Pat;akiii! 1.00 | 0.0010 A FHEEH 720 M | P33
(L 0.80 | 0.0170
KH 0.75 | 0.0000
Bk 0.53 | 0.0000
£ 0.85 | 0.0000
‘it 0.0180
Taf I 0.81

AR H-13

mronEnn] AWAE |ARRmEE| | |JOKEEEE _
t(4) r{(mm/h) re=f=r;(mm/h) re tc(min) 2 n

1 21.0 145.7 118.02 0.188 21.6 1444 1.3

2 21.1 145.5 117.86 0.188 21.6 1444 1.1

3 21.2 145.3 117.69 0.188 21.6 1444 09

4 21.3 1451 117.53 0.189 21.71 144.2 09

5 214 144.8 117.29 0.189 21.71 144.2 0.6

6 215 144.6 117.13 0.189 21.71 144.2 04

7 21.6 144.4 116.96 0.189 21.71 144.2 0.2

8 21.7 144.2 116.80 0.189 21.71 144.2 0.0

9 21.8 144.0 116.64 0.189 21.71 144.2 -0.2

10 21.9 143.8 116.48 0.189 21.71 144.2 -04

11 22.0 143.6 116.32 0.189 21.71 144.2 -0.6

#-3 HKRE AIAEFE
t r In Q
" (min) (mm/h) nr (mm/h) | (m3/s)

1 21.0 145.7 145.7 145.7 0.6
i 2 42.0 113.6 227.2 81.5 0.3
% 3 63.0 95.7 287.1 59.9 0.2
4 84.0 83.8 335.2 48.1 0.2
5 105.0 75.2 376.0 40.8 0.2
( 6 126.0 68.5 411.0 35.0 0.1
1 7| 1470 63.3 443 1 32.1 0.1
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F-1 RHEGRBIERE RS ERC

o RHE C | EfE(km2) s &
Pat;akiii! 70 0.0014 R FHE R 7200 B G P33
(Lot 290 | 0.1806
7KH 100
M 200
E 70
‘it 0.1820
Taf I 288
IR RE f i i &
pat:o¥iich 1.00 | 0.0014 RRFHESH 7o M EE i 1 P33
(L 0.80 | 0.1806
KH 0.75 | 0.0000
Bk 0.53 | 0.0000
£ 0.85 | 0.0000
‘it 0.1820
Taf I 0.80

=& g i -3

BB K 5L : FWL 13.6|(m)

LS EL 9.0({(m)

=8 IKi%E : H=FWL-EL 4.6{(m)

WETKE:V 5,000{(m3)

= RFHE=(Costa): Qp 66.65|(m3/s)  |Qp=325(H-V)**

JRigmiE:A 0.1820|km?2

/K ETE: A2 0.0014|km2

r=a/(t"+b)

1 F R = £181Fr BE

ErRsEE KN 0.687

ErREE R 2541.05

ErsEERX b 9.34
F-2Tri-r2hoh &

AR E B BF et 40| 4> Iz L5#YIR
LAA
F-2Mr1-r2M{EH0

REFHERR tc 40| % L1 AR EREEE
HUVIET

B ZERBADOMBEREE v 115.8{(mm/h)

HKFEE—Y:Q 4.7|(m3/s) |1/36+fr-A

RETKIREN.2Q 5.64|(m3/s)

i

%\/h\% ‘
AN

F&-2 HOKEERR]

Bl [REBRE|HRKRE|LEXRTRE
(min) | Q1(m3/s)| Q2(m3/s)|Q1+Q2(m3/s)
0 66.65 47 71.4
1 29.95 4.6 34.6
2 13.46 4.6 18.0
3 6.05 45 10.6
4 2.72 45 7.2
5 1.22 44 5.6
6 0.55 43 49
7 0.25 43 45
8 0.11 42 43
9 0.05 41 42
10 0.02 41 41
1 0.01 40 40
12 0.00 40 40
13 0.00 3.9 3.9
14 0.00 3.8 3.8
15 0.00 3.8 3.8
16 0.00 3.7 3.7
17 0.00 3.6 3.6
18 0.00 3.6 3.6
19 0.00 3.5 35
20 0.00 3.5 35

REOTEREl EWEE |AURRME gy | PUKENEESR ~
(%) rimm/h)  |re=f+r;(mm/h) re te(min) 2 n
1 40.0 115.8 92.64 0.205 40.58 1151 0.7
2 40.1 1156.7 92.56 0.205 40.58 1151 0.6
3 40.2 115.6 92.48 0.205 40.58 1151 0.5
4 40.3 115.4 92.32 0.205 40.58 1151 0.3
5 40.4 1156.3 92.24 0.205 40.58 1151 0.2
6 40.5 115.2 92.16 0.205 40.58 1151 0.1
7 40.6 1151 92.08 0.205 40.58 1151 0.0
8 40.7 115.0 92.00 0.205 40.58 1151 -0.1
9 40.8 114.9 91.92 0.205 40.58 1151 -0.2
10 40.9 114.8 91.84 0.206 40.78 114.9 -0.1
11 41.0 114.7 91.76 0.206 40.78 114.9 -0.2
®-3 HKRE-AIAEHE
t r In Q
" (min) (mm/h) nr (mm/h) (m3/s)
1 40.0 115.8 115.8 115.8 4.7
2 80.0 85.7 171.4 55.6 22
3 120.0 70.3 210.9 39.5 1.6
4 160.0 60.5 2420 311 1.3
5 200.0 53.6 268.0 26.0 11
6 2400 484 290.4 22.4 0.9
7 280.0 443 310.1 19.7 0.8
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